

D. ZARMAKH

### Solution to Selected Problems of Lecture 8.4

15)  $\frac{x^4}{x^2-1}$  : first use long to divide

$$\begin{array}{r} x^2-1 \overline{) x^4} \\ \underline{-x^4} \phantom{+1} \\ 1 \end{array}$$

$$\frac{x^4}{x^2-1} = 1 + \frac{1}{x^2-1} = 1 + \frac{1}{(x^2-1)(x^2+1)} = 1 + \frac{1}{(x-1)(x+1)(x^2+1)}$$

$$= 1 + \frac{A}{(x-1)} + \frac{B}{(x+1)} + \frac{C(x+1)}{(x^2+1)}$$

16)  $\int \frac{1}{(t+4)(t-1)} dt = \int \left[ \frac{A}{(t+4)} + \frac{B}{(t-1)} \right] dt$

$$A = \frac{1}{(t-1)} \Big|_{t=-4} = -\frac{1}{5}$$

$$B = \frac{1}{t+4} \Big|_{t=1} = \frac{1}{5}$$

$$\int \frac{1}{(t+4)(t-1)} dt = -\frac{1}{5} \ln|t+4| + \frac{1}{5} \ln|t-1| + C$$

$$= \frac{1}{5} \ln \left| \frac{t-1}{t+4} \right| + C$$

Dr. ZABDAWI

#15)  $\int_0^1 \frac{2x+3}{(x+1)^2} dx$

$$\frac{2x+3}{(x+1)^2} = \frac{A}{(x+1)} + \frac{B}{(x+1)^2}$$

$$B = (2x+3) \Big|_{x=-1} = 1, \quad \boxed{B=1}$$

$$\frac{2x+3}{(x+1)^2} = \frac{A(x+1)+B}{(x+1)^2} = \frac{Ax+A+B}{(x+1)^2}$$

$$\Rightarrow A=2, \quad A+B=3$$

$$2+1=3 \quad \checkmark$$

$$\int_0^1 \frac{(2x+3)}{(x+1)^2} dx = \int_0^1 \frac{2}{(x+1)} dx + \int_0^1 \frac{1}{(x+1)^2} dx$$

$$= 2 \ln|x+1| \Big|_0^1 - \frac{1}{(x+1)} \Big|_0^1$$

$$= 2 [\ln(2) - \ln(1)] - \left[ \frac{1}{2} - \frac{1}{1} \right]$$

$$= 2 \ln 2 + \frac{1}{2}$$

Dr. ZABDAWI

$$f(22) \int \frac{x^2}{(x-3)(x+2)^2} dx$$

$$\frac{x^2}{(x-3)(x+2)^2} = \frac{A}{x-3} + \frac{B}{x+2} + \frac{C}{(x+2)^2}$$

$$A = \frac{x^2}{(x+2)^2} \Big|_{x=3} = \frac{9}{25}, \quad \boxed{A = \frac{9}{25}}$$

$$C = \frac{x^2}{x-3} \Big|_{x=-2} = \frac{4}{-5} = -\frac{4}{5}$$

$$\frac{x^2}{(x-3)(x+2)^2} = \frac{A(x+2)^2 + B(x+2)(x-3) + C(x-3)}{(x-3)(x+2)^2}$$

$$\Rightarrow x^2 = \frac{A(x^2+4x+4) + B(x^2-x-6) + Cx-3C}{(x-3)(x+2)^2}$$

$$x^2 = (A+B)x^2 + (4A-B+C)x + 4A-6B-3C$$

$$A+B=1 \Rightarrow B=1-A = 1-\frac{9}{25} = \frac{16}{25}, \quad \boxed{B = \frac{16}{25}}$$

$$4A-B+C=0 \quad \text{--- (1)}$$

$$4A-6B-3C=0 \quad \text{--- (2)}$$

$$(1) \Rightarrow C = B-4A = \frac{16}{25} - \frac{36}{25} = -\frac{20}{25}, \quad \boxed{C = -\frac{20}{25}}$$

$$\int \frac{x^2}{(x-3)(x+2)^2} dx = \frac{9}{25} \int \frac{dx}{x-3} + \frac{16}{25} \int \frac{dx}{x+2} - \frac{4}{5} \int \frac{dx}{(x+2)^2} \quad \boxed{C = -\frac{4}{5}}$$

$$= \frac{9}{25} \ln|x-3| + \frac{16}{25} \ln|x+2| + \frac{4}{5} \cdot \frac{1}{x+2} + C$$

D. ~~ABD~~ AWT

$$25) \int \frac{10 dx}{(x-1)(x^2+9)}$$

$$\frac{10}{(x-1)(x^2+9)} = \frac{A}{x-1} + \frac{Bx+C}{x^2+9}$$

$$A = \frac{10}{x^2+9} \Big|_{x=1} = \frac{10}{10} = 1, \quad \boxed{A=1}$$

$$\frac{10}{(x-1)(x^2+9)} = \frac{A(x^2+9) + (Bx+C)(x-1)}{(x-1)(x^2+9)}$$

$$10 = Ax^2 + 9A + Bx^2 - Bx + Cx - C$$

$$= (A+B)x^2 + (C-B)x + 9A - C$$

$$A+B=0 \Rightarrow B=-A=-1, \quad \boxed{B=-1}$$

$$C-B=0 \Rightarrow C=B=-1, \quad \boxed{C=-1}$$

$$9A-C=0 \quad \checkmark$$

$$\int \frac{10 dx}{(x-1)(x^2+9)} = \int \frac{dx}{x-1} + \int \frac{(-x-1) dx}{x^2+9}$$

$$= \ln|x-1| - \int \frac{x dx}{x^2+9} - \int \frac{dx}{x^2+9}$$

$$= \ln|x-1| - \frac{1}{2} \ln|x^2+9| - \frac{1}{3} \tan^{-1}\left(\frac{x}{3}\right) + C$$

D. ZABIDAWA

$$430) \int \frac{x^3 - 2x^2 + x + 1}{x^4 + 5x^2 + 4} dx$$

$$\frac{x^3 - 2x^2 + x + 1}{x^4 + 5x^2 + 4} = \frac{x^3 - 2x^2 + x + 1}{(x^2 + 4)(x^2 + 1)} = \frac{Ax + B}{x^2 + 4} + \frac{Cx + D}{x^2 + 1}$$

$$\frac{x^3 - 2x^2 + x + 1}{x^4 + 5x^2 + 4} = \frac{(Ax + B)(x^2 + 1) + (Cx + D)(x^2 + 4)}{(x^2 + 4)(x^2 + 1)}$$

$$\begin{aligned} x^3 - 2x^2 + x + 1 &= Ax^3 + Ax + Bx^2 + B + Cx^3 + 4Cx + Dx^2 + 4D \\ &= (A + C)x^3 + (B + D)x^2 + (A + 4C)x + B + 4D \end{aligned}$$

$$\Rightarrow A + C = 1 \quad \text{--- (1)}$$

$$B + D = -2 \quad \text{--- (2)}$$

$$A + 4C = 1 \quad \text{--- (3)}$$

$$B + 4D = 1 \quad \text{--- (4)}$$

$$A + C = 1 \quad \text{--- (1)}$$

$$A + 4C = 1 \quad \text{--- (3)}$$

$$(1) - (3) \Rightarrow -3C = 0 \Rightarrow \boxed{C = 0}$$

$$(1) \Rightarrow \boxed{A = 1}$$

$$B + D = -2 \quad \text{--- (2)}$$

$$B + 4D = 1 \quad \text{--- (4)}$$

$$(3) - (4) \Rightarrow -3D = -3 \Rightarrow \boxed{D = 1}$$

$$(2) \Rightarrow \boxed{B = -3}$$

$$\int \frac{x^3 - 2x^2 + x + 1}{x^4 + 5x^2 + 4} dx = \int \frac{(x-3)}{(x^2+4)} dx + \int \frac{dx}{(x^2+1)}$$

$$= \frac{1}{2} \ln|x^2+4| - \frac{3}{2} \tan^{-1}\left(\frac{x}{2}\right) + \tan^{-1}x + C$$

Dr. ZABDUL

#35)

$$\int \frac{dx}{x^4 - x^2} = \int \frac{dx}{x^2(x^2 - 1)} = \int \frac{dx}{x^2(x-1)(x+1)}$$

$$\frac{1}{x^2(x-1)(x+1)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x-1} + \frac{D}{x+1}$$

$$B = \frac{1}{(x-1)(x+1)} \Big|_{x=0} = -1, \quad \boxed{B = -1}$$

$$C = \frac{1}{x^2(x+1)} \Big|_{x=1} = \frac{1}{2}, \quad \boxed{C = \frac{1}{2}}$$

$$D = \frac{1}{x^2(x-1)} \Big|_{x=-1} = -\frac{1}{2}, \quad \boxed{D = -\frac{1}{2}}$$

$$\frac{1}{x^2(x-1)(x+1)} = \frac{Ax(x^2-1) + B(x^2-1) + Cx^2(x+1) + Dx^2(x-1)}{x^2(x-1)(x+1)}$$

$$\Rightarrow 1 = Ax^3 - Ax + Bx^2 - B + Cx^3 + (C^2 + D)x^3 - Dx^2$$

$$1 = (A+C+D)x^3 + \underbrace{(B+D)}_{+C}x^2 - (A)x - B$$

$$\Rightarrow A+C+D = 0 \quad \text{--- (1)}$$

$$C+B+D = 0 \quad \text{--- (2)}$$

$$-A = 0 \quad \text{--- (3)}$$

$$-B = 1 \quad \text{--- (4)}$$

$$\text{Q (3)} \Rightarrow \boxed{A = 0}$$

$$\int \frac{dx}{x^4 - x^2} = - \int \frac{dx}{x^2} + \frac{1}{2} \int \frac{dx}{x-1} - \frac{1}{2} \int \frac{dx}{x+1}$$

$$= \frac{1}{x} + \frac{1}{2} \ln|x-1| - \frac{1}{2} \ln|x+1| + C$$

$$= \frac{1}{x} + \frac{1}{2} \ln \left| \frac{x-1}{x+1} \right| + C$$

Do zadawki

40)

$$\int \frac{dx}{x \sqrt{x+2}}$$

$$\text{let } u = \sqrt{x+2} \Leftrightarrow u^2 = x+2 \quad , \quad x = u^2 - 2 \\ \bullet \quad u \, du = dx$$

$$\int \frac{dx}{x \sqrt{x+2}} = 2 \int \frac{u \, du}{u^2 - 2 - u} = 2 \int \frac{u \, du}{u^2 - u - 2}$$

$$\frac{u}{u^2 - u - 2} = \frac{u}{(u-2)(u+1)} = \frac{A}{u-2} + \frac{B}{u+1}$$

$$A = \frac{u}{u+1} \Big|_{u=-1} = \frac{2}{2} \quad ; \quad \boxed{A = \frac{2}{3}}$$

$$B = \frac{u}{u-2} \Big|_{u=2} = \frac{1}{2} \quad ; \quad \boxed{B = \frac{1}{6}}$$

$$\int \frac{dx}{x \sqrt{x+2}} = 2 \left[ \frac{2}{3} \int \frac{du}{u-2} + \frac{1}{6} \int \frac{du}{u+1} \right]$$

$$= 2 \left[ \frac{2}{3} \ln |u-2| + \frac{1}{6} \ln |u+1| \right] + C$$

$$= 2 \left[ \frac{2}{3} \ln |\sqrt{x+2} - 2| + \frac{1}{6} \ln |\sqrt{x+2} + 1| \right] + C$$

#45)  $\int \frac{dx}{\sqrt{x} - \sqrt[3]{x}}$  [Hint: Substitue  $u = \sqrt{x}$ ] ) Do ZAPSAWI

let  $u = \sqrt{x}$   
 $\rightarrow$   ~~$u^2 = x$~~  ,  $u^6 = x$  ,  $u^3 = \sqrt{x}$  ,  $u^2 = \sqrt[3]{x}$   
 $6u^5 du = dx$

$$\begin{aligned} \Rightarrow \int \frac{dx}{\sqrt{x} - \sqrt[3]{x}} &= 6 \int \frac{u^5 du}{u^3 - u^2} = 6 \int \frac{u^3 du}{u^2(u-1)} \\ &= 6 \int \frac{u^3 du}{(u-1)} \end{aligned}$$

$$\begin{array}{r} u^2 + u + 1 \\ \hline u-1 \overline{) u^3 - u^2} \\ \underline{-u^3 + u^2} \phantom{+ 1} \\ u^2 \phantom{+ 1} \\ \underline{-u^2 + u} \phantom{+ 1} \\ u \phantom{+ 1} \\ \underline{-u + 1} \\ 1 \end{array}$$

$$\frac{u^3}{u-1} = (u^2 + u + 1) + \frac{1}{u-1}$$

$$\begin{aligned} \therefore \int \frac{dx}{\sqrt{x} - \sqrt[3]{x}} &= 6 \int \left( (u^2 + u + 1) + \frac{1}{u-1} \right) du \\ &= 6 \left[ u^3 + \frac{u^2}{2} + u + \ln|u-1| \right] + C \\ &= 6 \left[ \frac{\sqrt{x}}{3} + \frac{\sqrt[3]{x}}{2} + \sqrt{x} + \ln|\sqrt{x} - 1| \right] + C \\ &= 2\sqrt{x} + 3\sqrt[3]{x} + 6\sqrt{x} + 6 \ln|\sqrt{x} - 1| + C \end{aligned}$$